

## lib/main/nat-power.ath

```

1  # Properties of natural number exponentiation operator, Power.
2
3  load "nat-times"
4
5  #
6  # Exponentiation operator, **
7  #
8
9  extend-module N {
10 define [x y m n] := [?x:N ?y:N ?m:N ?n:N]
11 transform-output eval [nat->int]
12
13 open Times
14 declare **: [N N] -> N [400 [int->nat int->nat]]
15 module Power {
16
17   assert* axioms := [(x ** zero = one)
18                     (x ** S n = x * x ** n)]
19
20   define [if-zero if-nonzero] := axioms
21
22   (print "\n2 raised to the 3rd: " (eval 2 ** 3) "\n")
23
24   define Plus-case := (forall m n x . x ** (m + n) = x ** m * x ** n)
25   define left-one := (forall n . one ** n = one)
26   define right-one := (forall x . x ** one = x)
27   define right-two := (forall x . x ** two = x * x)
28   define left-times := (forall n x y . (x * y) ** n = x ** n * y ** n)
29   define right-times := (forall m n x . x ** (m * n) = (x ** m) ** n)
30   define two-case := (forall x . (square x) = x ** two)
31
32   by-induction Plus-case {
33     zero =>
34       conclude (forall n x . x ** (zero + n) = x ** zero * x ** n)
35         pick-any n x
36         (!chain
37           [(x ** (zero + n))
38            --> (x ** n) [Plus.left-zero]
39            <-- (one * x ** n) [Times.left-one]
40            <-- (x ** zero * x ** n) [if-zero]])
41 | (m as (S m')) =>
42   let {ind-hyp := (forall n x . x ** (m' + n) = x ** m' * x ** n)}
43     conclude (forall n x . x ** (m + n) = x ** m * x ** n)
44       pick-any n x
45       (!combine-equations
46         (!chain [(x ** ((S m') + n))
47                 --> (x ** (S (m' + n))) [Plus.left-nonzero]
48                 --> (x * x ** (m' + n)) [if-nonzero]
49                 --> (x * (x ** m' * x ** n)) [ind-hyp]])
50         (!chain [(x ** (S m')) * x ** n
51                 --> ((x * (x ** m')) * x ** n) [if-nonzero]
52                 --> (x * (x ** m' * x ** n)) [Times.associative]]))
53   }
54
55
56   by-induction left-one {
57     zero => (!chain [(one ** zero) --> one [if-zero]])
58 | (S n) =>
59   let {induction-hypothesis := (one ** n = one)}
60     (!chain [(one ** (S n))
61             --> (one * (one ** n)) [if-nonzero]
62             --> (one ** n) [Times.left-one]
63             --> one [induction-hypothesis]])
64   }
65
66   conclude right-one
67   pick-any x:N

```

```
68     (!chain [(x ** one)
69             --> (x ** (S zero))    [one-definition]
70             --> (x * x ** zero)   [if-nonzero]
71             --> (x * one)         [if-zero]
72             --> x                  [Times.right-one]])
73
74 } # close Power
75 } # close N
```